Leveled Language Frames - Explain Thinking - Grade K

® The answer is because

e ApatternIseeis____.
e First, I__  Then,

® [ know that

® [solved the problem by ____.

® Our answer is correct because

® The strategy I/we choose was . First I/we

e A different way to solve the problem is to

® At first I/we thought , then I/we

® [ conclude that

[/we are confident that our solution is correct because we
I/we know that

, SO wWe to solve the problem.

Another possible approach to solve the problem is

We recognized the pattern of . So, we

The key words and were clues that

Basedon___ I/weknow

How has your thinking/understanding changed as a result of our
discussion/learning?

e My thinking changed because...

® My thinking was confirmed because/when...

® My thinking/understanding increased/grew because now...

® My thinking/understanding is stronger because....
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